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1. A recipe for crispy rice treats results in a mixture that fills a
1.
9-inch by 13-inch pan to a depth of one inch. If a crispy rice

treats mixture resulting from 1.5 times the original recipe is

poured into a pan that is 10 inches by 15 inches, to what depth

will the pan be filled? Express your answer as a decimal to the

nearest hundredth.
2. Suppose a very poorly designed bridge 10,000 feet long
2.
expands in length by one foot on a warm summer day. 
Because the side supports do not move, the middle of the
bridge sags downward, making two straight, congruent 
line segments as shown. How many feet below the 
original bridge’s height is the middle (A) of the 
lengthened bridge? Express your answer to the nearest 
whole number.


10,000 feet
10,000 feet


A
3. One cube has a volume of 343 cubic centimeters. The edge
3.
length of a second cube is three times the edge length of this

first cube. What is the positive difference between the volume

of the second cube and the volume of the first cube, in cubic

centimeters?
4. In how many ways can 36 be written as the product
4.

a × b × c × d, where a, b, c and d are positive integers 
such that a ≤ b ≤ c ≤ d ?
5. The first square below is in position ABCD.

5.

After rotating the square 90 degrees clockwise about 
its center point, the second square is in position DABC, 
as shown. Next, square DABC is reflected over its 
vertical line of symmetry, resulting in the third square in 
position CBAD. If the pattern of alternately rotating 90 
degrees clockwise and reflecting over the vertical

line of symmetry continues, in what position will the 2007th

square be? Write your answer starting with the lower left

vertex and continuing clockwise with the other three vertices.


1st square
2nd square
3rd square
B                C         A              B         B             A


A                D         D              C        C              D
6. An isosceles trapezoid has legs of length 30 cm each, two
6.

diagonals of length 40 cm each and the longer base is 50 cm.

What is the trapezoid’s area?
7. When the expression
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7.

is written as an integer, what is the product of the tens 
digit and the ones digit?

8. A teenager is someone who is 13, 14, 15, 16, 17,

8.

18 or 19 years old. The product of the ages of a 
particular group of teenagers is 705,600. 
What is the mean of their ages? Express your

answer as a decimal to the nearest tenth.
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